@) High Quality Transformers
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o % AVE—FVR ERER %) | 1B | (RE o T Bmgauss | w L SUERIRAIBE T —4% (DC=01V) (Q/dB)
- 1% | 2& |1 |2%m| dB | dB WhV | 2% |30Hz [60Hz | 0.1 | 03 | 06 | 1 3 6 | 10 | 20 | 30 |50KHz
4130 600q 18902 | 5 [128 | o | 15 | 1050 |, | g5 |100HZ7V 551 | 575 588 | 607 | 615 | 622 | 636 | 657 | 697 | 865 |1089 |1847Q
(150) 128 | : 101 6570Q | 1.0 {090 |0.75 | 0.65 | 0.60 |0.55 | 0.45 | 0.60 |0.60 | 1.25 |1.95 |3.95dB
41130 | lisoa | 21 1 ea l10 |15 | 1050 | A 552 | 575 | 588 | 606 | 615 | 622 | 637 | 663 | 713 | 922 [1202 |2090Q)
(A5 ) ’ ’ ’ o 0.90 |0.80 | 0.70 | 0.60 | 0.60 | 0.55 |0.50 | 0.50 | 0.70 | 1.45 | 225 |4.35dB
g3y | 24000 12000 | 24 105 o o [100HZ7Y 1730 1923 [2026 {2190 |2260 |2307 |2398 |2417 2390 |2260 |2070 |1541Q
(600) | (300) | 24 105 | O 6410Q | 1.5 |1.15 |0.95 | 070 [0.60 |0.55 | 040 |0.35 |0.40 | 060 |0.95 | 2.7dB
431 | 13000 | 12 1525 | 10 | 1s 110707 | 8 465 | 507 | 526 | 557 | 571 | 579 | 597 | 610 | 628 | 700 | 797 [1107Q
(%)) ’ ' B 125 | 1.0 [0.85 |0.65 |0.55 | 0.50 | 040 |0.40 |0.40 | 0.55 | 0.85 |1.75dB
a1)3p |10KQ [10KQ 1175 214 g | 5o |30HZ8Y 80 |866 |9.13 |9.84 |9.84 |9.09 | 4.82 |2.53 263 |201 |1.19 |0.067KQ
(2.5K) | (2.5K) | 176 | 214 | : : 400KQ | 16 | 125 | 1.1 | 075 (070 [0.80 | 275 | 53 |545 | 209 |324 |46.5dB
4132 1 o ea L es 1107 113 | 1s | 14 . 2140 |2260 2340 |2460 |2530 {2570 |2650 |2730 |2880 |3623 |4864 |9577Q)
(X5) |~ ’ ’ ’ ’ 13 |1.10 [ 095 |0.75 | 0.65 |0.60 | 050 | 050 |0.55 | 0.85 |1.25 |2.55dB
41)33 |10KQ [10KQ | 168 | 198 | | ) g | 5o |30HZBY 85 |9.22 |9.62 | 10.0 [10.18 | 10.0 | 7.38 | 43 [231 | 159 |3.58 |26.6KQ
(2.5K) | (2.5K) | 228 | 198 | : ) 33.8KQ | 13 | 1.0 085 | 065 [066 |0.60 | 145 |3.55 |6.40 [ 112 |13.7 | 16.3dB
433 | o e losr | 99 | 10 |10 | 14 8 2200 |2355 2428 (2519 |2562 {2592 |2637 |2645 |2648 |2640 {2620 |2550Q
(7)) |~ ’ ' ' ' ’ 1.15 [ 0.90 [0.80 |0.65 | 0.55 | 0.50 | 045 [0.40 |0.40 | 0.50 | 0.50 |0.65dB
a1)34 |10KQ [10KQ | 168 187 | g | 5o |30HZ8Y 8.1 |883 |9.22 |9.84 [10.14 {1033 {1050 |10.30 | 9.77 | 8.13 | 6.78 |5.08KQ
(2.5K) | (2.5K) | 229 | 209 | : ’ 36.6KQ 1145 [ 115 | 1.0 | 0.75 [0.65 |0.55 | 050 |0.45 | 050 |0.65 |0.85 |1.30dB
4134 1 o ek loso loss | 11 |10 | 14 . 2160 |2302 2374 2490 |2540 {2570 |2630 |2620 |2590 |2430 {2242 [1912Q
(%)) |~ ’ ) T ' ) 125 | 1.0 |0.85 [ 065 |0.60 | 050 |0.50 | 0.40 | 045 |0.50 | 055 |0.75dB
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